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ESPESPESPESP4994499449944994eeee    Hadden Hall Hotel, BuxtonHadden Hall Hotel, BuxtonHadden Hall Hotel, BuxtonHadden Hall Hotel, Buxton    
    
    

Soakaway 1 (TPSoakaway 1 (TPSoakaway 1 (TPSoakaway 1 (TP2222))))        
    

Soakaway DimensionsSoakaway DimensionsSoakaway DimensionsSoakaway Dimensions    

Length Width Depth 

2.1m 1m 2m 

 
 
VP75VP75VP75VP75 = Length (m) x Width (m) x [t75 – t25] 
 = 2.1 x 1 x [0.5] 
 = 1.05= 1.05= 1.05= 1.05mmmm3333. 
 
 
Ap50Ap50Ap50Ap50 = [length (m) x [t75-t25] x 2] + [width (m) x [t75-t25] x 2] + [length (m) x width (m)] 
 = [2.1 x 0.5 x 2] + [1 x 0.5 x 2] + [2.1 x 1] 
 = 2.1 + 1 + 2.1 
 = = = = 5.25.25.25.2mmmm2222    
 
 
TimeTimeTimeTime = [tp75 (mins) – tp25 (mins)] 
 = 33.75 – 11.25 
 = = = = 22.522.522.522.5    minutesminutesminutesminutes    
 
 

Infiltration Infiltration Infiltration Infiltration RateRateRateRate    
 

Vp75 
[aP50 x [tp75-tp25] x 60] 

 
1.05 

[5.2 x 22.5 x 60] 
 

1.05 
7020 
 

= = = = 1111.5.5.5.5    x x x x 10101010----4444    m/sm/sm/sm/s 
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Soakaway Soakaway Soakaway Soakaway 2222    (TP(TP(TP(TP3333) ) ) )     
    

Soakaway DimensionsSoakaway DimensionsSoakaway DimensionsSoakaway Dimensions    

Length Width Depth 

2.1m 1.4m 3m 

 
 
VP75VP75VP75VP75 = Length (m) x Width (m) x [t75 – t25] 
 = 2.1 x 1.4 x [0.65] 
 = 1.911= 1.911= 1.911= 1.911mmmm3333. 
 
 
Ap50Ap50Ap50Ap50 = [length (m) x [t75-t25] x 2] + [width (m) x [t75-t25] x 2] + [length (m) x width (m)] 
 = [2.1 x 0.65 x 2] + [1.4 x 0.65 x 2] + [2.1 x 1.4] 
 = 2.73 + 1.82 + 2.94 
 = = = = 7.497.497.497.49mmmm2222    
 
 
TimeTimeTimeTime = [tp75 (mins) – tp25 (mins)] 
 = 23.25 – 8.12 
 = = = = 15.1315.1315.1315.13    minutesminutesminutesminutes    
 
 

Infiltration Infiltration Infiltration Infiltration RateRateRateRate    
 

Vp75 
[aP50 x [tp75-tp25] x 60] 

 
1.911 

[7.49 x 15.13 x 60] 
 

1.911 
6799.422 

 
= = = = 2222.8.8.8.8    x x x x 10101010----4444    m/sm/sm/sm/s 

 
 


